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Assume )", a, isan infinite series with partial sums given by

Sy=4+—.
What is a,?
A) -
B) E C
0 -
D) .

El Nane of the above.



Which of the following series cnmmrge?
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A) lonly.
B) None of them.
C) 1l only.

D) 1l only.
) IlandIIlL
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Express the area of the surface obtained by rotating the curve

y= % Incsc(2x) between x = Zand x= E about the y —axis as

iy

an integral.

A) '.'rf; csc(2x) In cse(2x) dx.

F 3
0N
r r-q. )

B) :r_]'E= In csc(2x) JI + % cot*(2x)dx. 7 &

C) 2m [ xese(2x)dx,
]

D) 2m [ «x J 1 + = cot?(2x)dx.
& 4
E) None of the above.

A)



Find the sum of the series:

wx)

3ﬂ+l i 211-2
)%

n=]}

or conclude that it diverges.

35
* L]
37
‘ L]
53

A)

B)

C)

55
D) =
E) Diverges,






Let R be the region in the plane enclosed by ¥y = o y=0,andx = 1. [
Find the volume of the solid formed by rotating R about the axis x = 2.

A) V= ﬂfﬂl((z - y%)z — 1) dy.

B ¥= Hj{: (1 — (2 - yi)z) dy.
i 2

) ¥= nfnl ((}ri + 2) — 1) dy.

r

D) V= :r.f_,f{.l (yi— 1) dy.

E) None of the above.



Assume )., a, is an infinite series with partial sums given by

Sy=4+—.
What is a4?
A) - g
B) §-
) -
D) -

E) None of the above.



Express the area of the surface obtained by rotating the curve

y= %ln csc(2x) between x = E and x = E about the y —axis as

an integral.

A @ ff csc(2x) In csc(2x) dx.
b

B) n'fg In csc(2x) Jl + i{:utz(z.r)dx.

C) 27 [ xcsc(2x)dx.
6

D) ZHExJI + icntz(z;r)d.t.
6

E) None of the above.




Find the sum of the series:

i 3n+1 y AL -2

or conclude that it diverges.

A =
B) .
o S
D) .

E) Diverges.



Express the area of the surface obtained by rotating the curve

¥ “':]I:I'I.'II.'[II]- between 1 =E and x =E about the v —axis as

o

an integral.

Al w | esc(Zry) Inese{2rx) dx.
ik

: o .8 |
B) I'rL*l!nn:LI_r]\‘I: i l-|.-|:|~I":.|I:|:r.|:l.
Y

Cl II'I’_I-.."':-:‘I-I.‘IIIHI'.:.

D) Im !I.*I"!Il. . -}rnt‘Tl:IJ]dJ'.

E] HNoane of the above.




Express the arc length of the curve y = — -|-
x = —3 and x = —1 as an integral.

A) :_: ( + —) dx.

B) __13 (? + #) dx.

ST (;_3 N 21?) "

o) I, (g B .:_ii) e

E)

None of the above.
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Let R be the region in the half plane x = 0 bounded by the curves

y=—5x+5
y=x2—1
x=0

Compute the volume of the solid of revolution formed by rotating
R about the vertical line x = —2.

A) V=2m[ (x—2)[(-5x+5) - (x* — 1)]dx.
B) V=2m[ (x+2)[(x* - 1) - (=5x + 5)|dx.
C) V=2m (x+2)[(-5x+5)— (x* — 1)]dx.

D) V=2m[ (x—2)[(x* - 1) - (~5x+ 5)|dx.
E) None of the above.




Express the arc length of the curve y =
x = —3 and x = —1 as an integral.
A
A [, (“23 +—) dx.
B) __13 ("; + Eig) dx.
0 [ (5 )
o) 17 (5 ).

E) None of the above.
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Let >, .ia, be a series with partial sums Sy. If a,, = f(n), where f(x) Time left 0:12:08

continuous, and decreasing function. Which of the following statements are always true?

L If Y., a, converges, then ,II:I_.IE a, = 0.

IL. If ¥,-;a, = L, then lim a, = L.

=0

III. If lim a, = 0, then 2,,_, a,, converges.

fi—=oo

IV. If ."!’l—r-lulu Sy=1L,then X ;_1a, = L.
V. If [ f(x)dx = L, then ¥ a, = L.
A) IIIandIV.
B) ILIIIIV.
C) TIandlV.
D) IILIV,V.
E) All of them.

@ B)



Assume the terms of a sequence {a,,},._, are given by the following
formula:

1 22 32 ns
2n3 T 2n3 3 2nd L +ﬁ'

a, =

Find the limit of the sequence or conclude that it diverges.

" nint+1)(2Zn+1)

Hint: .. ;i = A

2

A) Ze
1

B) e
2

C) 2

D) 0.

E) Diverges.



Let R be the region in the half plane x = 0 bounded by the curves

y=-=5x+5
y=x2-1
x=20

Compute the volume of the solid of revolution formed by rotating
R about the vertical line x = —2.

A) V=2m[ (x—2)[(-5x+5)— (x* — 1)]dx.
B) V=2m[ (x+2)[(x*-1)—(=5x+5)|dx.
) V=2rf (x+2)[(-5x+5)— (x? — 1)]dx.
D) V=2m[ (x—2)[(x*-1)- (-5x+5)]dx.

E) None of the above.

C
()
f—



A solid is formed with a base that is a triangle with vertices at

(0,0), (3,0) and (0, 1). Cross sections of this solid, perpendicular
to the x —axis are squares. Find the volume of the solid.

1
A)
1
B) -
c) 1.
3

D) .
N

E) one of the above.



Which of the following series converge?

-1 3
L EI‘! 1 Zns 11. Eu 2 I11. En 1 51257:1 }
A) 1only.
B) 1I only.
C) III only.
D) 11 andIII.

E) None of them.

Clear my choicse



Find the sum of the series:

~ 6
;(n—zxn+1)

or conclude that it diverges.

11
A) i
13
B) =
13
C) =
D) O.
E) Diverges.
i A)
) B)
s C)
D)



Which of the following series cunuerge?

on 2
L anl_ 11. Zn 2

m n
In n5 L 2:1:1 Jn2-1

34
A) 1only.
B) None of them.
C) Il only.
D) III only.

E) Il and IIL.



‘ Time left 0:24:54

A solid is formed with a base that is a triangle with vertices at
(0,0), (3,0) and (0, 1). Cross sections of this solid, perpendicular
to the x —axis are squares. Find the volume of the solid.

1
A) ~
1
B) 2 C
C) L
3
D) >
E) None of the above.

A)
H)



Let Y,..;a, be a series with partial sums Sy. If a, = f(n), where fl,’.:r}: lime left 0:18-08

continuous, and decreasing function. Which of the following statements are always true?

L. If },.a, converges, then lim a,, = 0.

.I =& [y

. if ¥, ;a, =L, then lim a, = L.

N—o0

L If lim a, = 0, then },/; 7, converges,
on

Iv. If J%l_{l] Sy=1L,then ¥ ja,=L.

V. If [ f(x)dx = L, then £, a, = L.

A) IllandlV.
B) II IIIIV.
C) TIandIV.
D) IIL1IV,V.

El All Af +ham



i
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1 only.
11 only.
111 only.

Il and 111
None of them.

Which of the following series converge?

w~m B

| in(2n")
I, O,

2%4nm

l_




Find the sum of the series:

[ # &) 6
"Z; nmn—2)(n+1)

or conclude that it diverges.

—
—

A)

"3_-

": A
-
13

) —

D) O.



Time l

Assume the terms of a sequence {a,},_, are given by the following
formula:

1 22 . 32 n*
G =it Tt s

Find the limit of the sequence or conclude that it diverges.

Hint: E" fz _ n{n+1}1{2n+1].

i=1 6
A) =
B) é.
C) g
D) 0.

E) Diverges.



